A £ 0l & AF & S

Al A

FA: Aot AIE A
Ja: SHI|IZAL el (SB/4ot+E - +F)
celr BEIIZAE A4 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Aot=EAI A 115,612,219 30,879,530 84,732,689
= 69,625,000
[ 162,450
= 21,106,000
Al 24,718,769
SHIIZAIE 2el(8F/HoteE - =) 97,438,312 20,762,466 76,675,846
= 68,459,000
[ 162,450
= 16,201,000
Al 12,615,862
SBEIIZAE HE 94,400,280 19,081,500 75,318,780
= 68,459,000
= 162,450
= 16,201,000
Al 9,577,830
SHEZX 2 (2EHH) Ste2t2 FHIAMY 25,782,580 6,163,000 19,619,580
= 20,584,000
= 4,410,000
Al 788,580
401 A& HIX R0 25,782,580 6,163,000 19,619,580
= 20,584,000
S 4,410,000
Al 788,580
01 Al&H| 24,522,000 5,553,000 18,969,000
OBHELXP(2EH) St==22 FH|
24,522,000,000& 24,522,000
= 19,622,000
< 4,200,000
Al 700,000
02 Zeltl 1,200,000 600,000 600,000
OMBEXIT(2SH) s4B2 Hb|
1,200,000,000& 1,200,000
= 930,000
= 190,000
Al 80,000
03 AIZ 2 THYI 60,580 10,000 50,580
OYHELXF(2EHH) St=22 FH|
60,580,000& 60,580
= 32,000
= 20,000
Al 8,580
AR (3EHH) St+=22 HHIAIY 26,330,500 6,191,000 20,139,500
= 20,828,000
= 4,463,000




FA: Aot AIE A
ZA: SAI|ZAL 2e(BB/M0tE - +F)
celr BEIIZAE A4 EER=E)
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
Al 1,039,500
401 AlEHIZ S OHbI 26,330,500 6,191,000 20,139,500
= 20,828,000
= 4,463,000
Al 1,039,500
01 AlZH| 25,066,000 5,581,000 19,485,000
ONBXIR(BHH) S22 F|
25,066,000,000& 25,006,000
= 19,900,000
= 4,260,000
Al 906,000
02 Zaltl 1,200,000 600,000 600,000
OAHEXIF(3EtH) ot=2t2 FH|
1,200,000,000& 1,200,000
= 880,000
= 190,000
Al 130,000
03 AlZ 2 THHI 64,500 10,000 54,500
OAMEXIF(3etH) dt=2t2 FH]
64,500,000 64,500
= 48,000
= 13,000
Al 3,500
DX (2EH) St+=22 FHIAIY 2,024,000 167,000 1,857,000
= 1,417,000
= 303,500
Al 303,500
401 AlZHIZ S 0HHI 2,024,000 167,000 1,857,000
= 1,417,000
= 303,500
Al 303,500
01 AlZH| 1,617,000 165,500 1,451,500
o227 (2etH) ot=2t2 FH|
1,617,000,000& 1,617,000
= 1,132,000
= 242,500
Al 242,500
02 Zeltl 400,000 0 400,000
O22 X+ (2etH) ot=2t2 FH|
400,000,000 400,000
= 280,000
= 60,000
Al 60,000
03 Al 2 THHI 7,000 1,500 5,500




FA: Aot AIE A
Ja: SHI|IZAL el (SB/4ot+E - +F)
celr BEIIZAE A4 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OZ LR (2etH) st=22 HH|
7,000,000& 7,000
= 5,000
[ 1,000
Al 1,000
Z=0tS o= EXA 4,002,500 893,500 3,109,000
= 3,330,000
[ 672,500
401 AIEHIX R0 4,002,500 893,500 3,109,000
= 3,330,000
S 672,500
01 AlZ2H| 3,592,000 888,500 2,703,500
Oz=0t= otk X
3,592,000,000& 3,592,000
= 2,990,000
= 602,000
02 Zeltl 400,000 0 400,000
OZ=0t2 otk &X 400,000,000& 400,000
= 332,000
[ 68,000
03 AIZSTHYI 10,500 5,000 5,500
Og=0t= ot £X 10,500,000& 10,500
= 8,000
= 2,500
HIE0tS ot== EXIAIE 1,367,000 849,500 517,500
= 574,000
== 123,000
Al 670,000
401 AIEHIZ SR HYI 1,367,000 849,500 517,500
= 574,000
= 123,000
Al 670,000
01 A28l 1,363,000 844,500 518,500
OHBIE0tE oft=& 4X
1,363,000,000& 1,363,000
= 572,500
= 122,500
Al 668,000
03 AlE S THYI 4,000 5,000 21,000
OHIE0HE of=& &X 4,000,000 4,000
= 1,500
= 500
Al 2,000
g - DE0IE ol== EXAE 2,794,500 478,500 2,316,000




FA: Aot AIE A
ZA: SAI|ZAL 2e(BB/M0tE - +F)
celr BEIIZAE A4 EER=E)
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
= 2,248,000
=S 546,500
401 Al HIZL 01| 2,794,500 478,500 2,316,000
= 2,248,000
== 546,500
01 AlZH| 2,785,000 475,500 2,309,500
oud - n380t= ot=k X
2,785,000,000& 2,785,000
= 2,241,000
= 544,000
03 A& CHYI 9,500 3,000 6,500
o%g - Nd0l= otk &X
9,500,000& 9,500
= 7,000
S 2,500
AME X7 OtSote=E XA 15,697,000 396,000 15,301,000
= 10,882,000
== 2,382,500
Al 2,432,500
401 Al HIZL 201 15,697,000 396,000 15,301,000
= 10,882,000
& 2,382,500
Al 2,432,500
01 Al&H| 14,961,000 393,731 14,567,269
OAIEXIT OtSot== EX
14,961,000,000& 14,961,000
= 10,372,000
= 2,270,000
Al 2,319,000
02 Zeltl 700,000 0 700,000
OAIEXIT OtSot=E &X
700,000,000 700,000
= 485,000
< 107,000
Al 108,000
03 A2 THYI 36,000 2,269 33,731
OAIEXIT OtSotE 2%
36,000,000 36,000
= 25,000
== 5,500
Al 5,500
AT >TRA(SE) ot TH| SF22IXSE SAIE 2,570,000 500,000 2,070,000
= HSAte
= 1,800,000




M ABETAIRIA
Ja: SHI|IZAL el (SB/4ot+E - +F)
&2l BHIIZAE AL (SH &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 770,000
401 AIEHIX 20 2,570,000 500,000 2,070,000
= 1,800,000
Al 770,000
01 AlZ8| 2,161,000 498,200 1,662,800
OuHL+=TA(ST) ot+==ZH SE2
IS CAIEs HSAE
2,161,000,000& 2,161,000
= 1,513,000
Al 648,000
02 Zeltl 400,000 0 400,000
OYEZH+=H(SR) St+==FH SE=2
clAg CAIEs HSAE
400,000,000 400,000
= 280,000
Al 120,000
03 AlESTHYI 9,000 1,800 7,200
OuHL+=TH(ST) ot+==ZH SE2
clXS A HSAE
9,000,000& 9,000
= 7,000
Al 2,000
8 33ot=HlAE SEAMY 406,000 500,000 294,000
= 236,000
< 70,000
Al 100,000
401 Al HIZL 201 406,000 500,000 A94,000
= 236,000
=S 70,000
Al 100,000
01 AlZ8| 404,000 498,200 A94,200
O88 Z3ot=HelAE SEAY
404,000,000 404,000
= 235,000
=S 69,500
Al 99,500
03 Al 20HHI 2,000 1,800 200
O8E Z3ot=HelAE SEAY
2,000,000& 2,000
= 1,000
== 500
Al 500
AEAl c=ot=22 FHIAY 12,520,000 2,112,000 10,408,000
= 6,260,000
s 3,130,000




FA: Aot AIE A
Ja: SHI|IZAL el (SB/4ot+E - +F)
=Hel SFII=AIE A4 (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 3,130,000
401 AIEHIX 20 12,520,000 2,112,000 10,408,000
= 6,260,000
= 3,130,000
Al 3,130,000
01 Al&H| 11,494,000 1,904,400 9,589,600
OAEAl =ot=22 HHIAS
11,494,000,000& 11,494,000
= 5,747,000
= 2,873,500
Al 2,873,500
02 Zaltl 1,000,000 200,000 800,000
OAEAl =ot=22 FHIAS
1,000,000,000& 1,000,000
= 500,000
= 250,000
Al 250,000
03 AIESTHYI 26,000 7,600 18,400
OAEAl ==0ot=2t2 FHIA
26,000,000& 26,000
= 13,000
= 6,500
Al 6,500
NS0 X A 406,200 248,000 158,200
[ 162,450
Al 243,750
401 AIEHIZ R 0HYI 406,200 248,000 158,200
= 162,450
Al 243,750
01 Al&H| 406,200 248,000 168,200
OAIEAl 2 BJIZAE ZHIDHEd S Sgt o
HXl 22 406,200,000& 406,200
= 162,450
Al 243,750
SEEMC Y HE2AZE S8 500,000 0 500,000
= 300,000
= 100,000
Al 100,000
401 AIEHIX R0 500,000 0 500,000
= 300,000
= 100,000
Al 100,000
01 Al&HI 496,400 0 496,400




FA: Aot AIE A
M SAI| AL 2e|(BH/YOIRE - )
eelr SZII=AE A4 (EEEE))
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O EEX eI 1H2A2 SH3t
496,400,000& 496,400
= 297,800
[ 99,300
Al 99,300
03 Al 20HHI 3,600 0 3,600
OHEEX 7Y AH2A2 SH3t
3,600,000& 3,600
= 2,200
S 700
Al 700
BEIIZAE 29 689,032 689,966 2934
IEELSSAE 29 168,000 132,000 26,000
201 er23y| 118,000 132,000 14,000
02 S3=gl 118,000 132,000 14,000
OIIEEa3SXcIANE HIIe3
118,000,000& 118,000
401 AIEHIZ SR 0HYI 40,000 0 40,000
01 Al&HI 40,000 0 40,000
OIIEEu3SHelAME J=dHEY
40,000,000 40,000
EoXeld WA (AR, &JE IHR) 531,032 525,966 5,066
308 AtXIEMSOIH 531,032 525,966 5,066
18 SIS0t HAS A 531,032 525,966 5,066
OF=Meld HE(ME AT JIEE5R)
531,032,000& 531,032
SHIIZAE 22 2,349,000 991,000 1,358,000
OtSot+=T 3l 250,000 200,000 50,000
401 AIEHIZ SR OHYI 250,000 200,000 50,000
01 Al&HI 250,000 200,000 50,000
Odt==k 2gsd 100,000,000 100,000
Odl==k 2ess 100,000,000 100,000
OBIEOelnta 23 242 &
50,000,000 50,000
212330kl Ald 2l 159,000 131,000 28,000
201 fet=3| 110,000 110,000 0
02 s3=gHl 110,000 110,000 0
OAEEEcteHMelAE M2z
110,000,000 110,000
401 Al HIZL 01| 49,000 21,000 28,000
01 Al&H| 49,000 21,000 28,000
W2AHIDESot=HelAE J=dEHE
S 27,000,000& 27,000




FA: Aot AIE A
Ja: SHI|IZAL el (SB/4ot+E - +F)
Chel: SHIIEAIE 22l EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O=SEAARE30t=MelAE JlsdHS
S 22,000,000& 22,000
adEd Y22 0|4 FH| 1,500,000 500,000 1,000,000
401 AIE2BIXL S THYI 1,500,000 500,000 1,000,000
01 A28l 1,496,100 500,000 996,100
gdZd Y242 0l23Y|
1,496, 100,000& 1,496,100
03 AlE220HHI 3,900 0 3,900
SEZA Y22 0l£EH|
3,900,000& 3,900
S3ot=HelAlE 2el 440,000 160,000 280,000
401 AlEHIZ S 0HbI 440,000 160,000 280,000
01 Al&H| 437,000 160,000 277,000
OLMBHEIE F¥ 22422
437,000,000 437,000
03 AlE S THYI 3,000 0 3,000
OLABHBEIY =¥ 22420
3,000,000& 3,000
HRE 2 S=(H/MotaE - =F) 11,950,907 6,035,810 5,915,097
= 1,166,000
= 4,905,000
Al 5,879,907
Ye = 220 298,907 278,810 20,097
= 100,000
Al 198,907
Hes SSAE =2 11,000 11,000
201 er2 3| 1,000 1,000
02 S3=gHl 1,000 1,000
Ot ANERXE 1,000,000& 1,000
401 AIEHIZ SR 0HYI 10,000 10,000
01 Al&HI 10,000 10,000
OY=2 SSAIE (=) He
10,000,000 10,000
OIS &= A4 2t 145,050 149,500 AN4,450
201 Ler23| 27,050 31,500 AN4,450
01 At2teltl 12,800 16,000 A3,200
OUISASE +TAN 228
12,800,000 12,800
02 s3=gHl 14,250 15,500 1,250
O=RAXEI| RAE= 1,000,000& 1,000
O=+Z2HEIAE |2
6,770,000& 6,770
OFAFI| uAl 6,480,000& 6,480
206 MH=H| 18,000 18,000 0




M ABET AL
I et = SS(B3/YotrT - +8)
&t HeE =2 =22 (EEEE))
SA - ZE . BR() - HRAR - BES of v G o HIDE2
IEEL 8,000 18,000 0
OUISA+E ASAE 7Y
6,000,000& 6,000
ONISA%E AST| ZE 7Y
9,000,000& 9,000
OOISA%TAE S&TE 72
3,000,000 3,000
401 Al HIZL 201 100,000 100,000
01 Al&HI 100,000 100,000
OL1E =ZAd 288+
50,000, 0002 50,000
OBTHX ARD +TAL BN
50,000,000 50,000
A2 E ESIAIE HSAIL X2 (HEALSY) 142,857 114,000 28,857
& 100,000
Al 42,857
401 Al HIZL 201 142,857 114,000 28,857
= 100,000
Al 42,857
01 Al&H| 142,857 114,000 28,857
OXNMOEE AnBE “2SAIE WAL
(Xet) 142,857,000 142,857
=S 100,000
Al 42,857
Agat=AlZ 2] 11,652,000 5,757,000 5,895,000
= 1,166,000
=S 4,805,000
Al 5,681,000
BE~ME N HESSY 2SAL(HEAIY) 1,500,000 1,500,000 0
== 1,185,000
Al 315,000
401 AIEHIZ R HYI 1,500,000 1,500,000 0
< 1,185,000
Al 315,000
01 Al&H| 1,494,600 1,497,450 N2,850
OBE-NI NYLLE HIABIY PEM
& (2-2EH 1) 1,494,600,000& 1,494,600
= 1,180,000
Al 314,600
03 AIESTHYI 5,400 2,550 2,850
OSE~NME N Hlass52 A=A
& (2-2¢431) 5,400,000 5,400
[ 5,000
Al 400
MNEEZ SEHi=X HEAY 1,500,000 2,500,000 1,000,000




2A:

[
B PR 2 DI(HY/YHEE - 27)
ool XZALEALR) (49 52)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
401 AlZHIZL SO 1,500,000 2,500,000 1,000,000
01 Al&H| 1,496,300 2,500,000 21,008,700
OAE B SHUIX A4
1,496,300, 0002 1,496,300
03 Al 2Tl 3,700 0 3,700
ONF B2 SEI4X 24
3,700,000& 3,700
L2HES=AE EX 100,000 150,000 /50,000
401 AlEHIZ SO 100,000 150,000 /50,000
01 Al&HI 100,000 150,000 50,000
OAxgE=AIE £ 100,000,000 100,000
Ceds2E gl 4,500,000 0 4,500,000
= 2,250,000
Al 2,250,000
401 AIZHIX S0HH 4,500,000 0 4,500,000
S 2,250,000
Al 2,250,000
01 A28l 4,488,000 0 4,488,000
OAEAl c2a-22 FHIAE
4,483,000,000& 4,488,000
< 2,244,000
Al 2,244,000
03 Al 2 CHHI 12,000 0 12,000
OMNEAl =2 4+22 JUIAIY
12,000,000 12,000
= 6,000
Al 6,000
Mg ST SHELES HLEAL (HEAE) 600,000 0 600,000
< 510,000
Al 90,000
401 AlEHIZL SO 600,000 0 600,000
& 510,000
Al 90,000
01 Al&H| 536,300 0 536,300
OAtd ST SHEUEE IHLARS(
Heh) 596,300,000& 596,300
= 507,000
Al 89,300
03 Al = THHI 3,700 0 3,700
OAlg ST SHELEE S L A(
HEh) 3,700,000 3,700
< 3,000
Al 700
22 SSFIUE ZEMY 320,000 0 320,000




FA: Aot AIE A
B PR 2 DI(HY/YHEE - 27)
el Ngd=CAIE2 (Cre|: ®M2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
401 AlZHIZL SO 320,000 0 320,000
01 Al&H| 320,000 0 320,000
08d SEFE &4 320,000,000 320,000
Nga=E(K-1022) 2422 FHIAY 800,000 0 800,000
= 400,000
Al 400,000
401 AlZHIZ SO 800,000 0 800,000
== 400,000
Al 400,000
01 Al&HI 795,000 0 795,000
ONga==Z(K-1022) c=a+22 JHIA
& 795,000,000 795,000
= 397,500
Al 397,500
03 A2 THYI 5,000 0 5,000
ONYALE (K-1022) LEALB2 FHIA
& 5,000,000 5,000
=S 2,500
Al 2,500
==Xl ASEME HEMAH RS ALY 2,332,000 0 2,332,000
= 1,166,000
=S 460,000
Al 706,000
403 AXIEHMSAH=201H 2,332,000 0 2,332,000
= 1,166,000
= 460,000
Al 706,000
02 SISOt =2 A P E A I 2,332,000 0 2,332,000
Oti=Xl ~8d= UHSHH FEAE
2,332,000,000& 2,332,000
= 1,166,000
= 460,000
Al 706,000
NP S (Aot TAIA) (B /Aot E - &) 6,223,000 4,081,254 2,141,746
WA XIE 6,223,000 4,081,254 2,141,746
a=ES83 dEs 4,223,000 2,581,254 1,641,746
701 JIEtRI HSHES 4,223,000 2,581,254 1,641,746
03 SIIHEEIAN=2ES 4,223,000 2,581,254 1,641,746
OS82 AN2dES
4,223,000,000& 4,223,000
oS8 dES 2,000,000 1,500,000 500,000
701 JIEtI HSHES 2,000,000 1,500,000 500,000
03 BIIHEEIIAN=2HES 2,000,000 1,500,000 500,000




2A:
PSER
o e

el

Aot AIE A
WP S (Aot ASA) (BB /A5 - =2)

LIS HCH X

]

S - BE - BI(3) - NRAY - BAS

Ofl &F2H

HMEE
Ofl &k2h

2,000,000,000&

2,000,000




